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1,545 27,019 7 175 21.1 0.0
H17 * 587 587 2
(38.0%) (2.2%)
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H18 * 359 359 5
(24.1%) (0.9%)
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(22.8%) (0.9%)
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W&ET 7 59 - 5 18 - 4 7 -
EWV=ER 4 20 - 2 2 - 5 184 -
FEH 10 67 - 6 43 - 7 28 -
HEARE| 106 741 - 92| 3,150 - 72 420 -
HEh 50 258 - 37 93 - 32 236 -
N 9 48 - 7 121 - 13 32 -
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BET 5 59 - 2 18 - 2 7 -
SEMATT 6 246 - 1 15 - 1 4 -
LHEH 26 174 - 10 119 - 10 76 -
HETH 12 185 - 6 22 - 5 140 -
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tERE 24 150 - 22 145 - 23 109 -
BEATH 3 13 - 2 33 - 7 20 -
bENI s 1 162 - 2 2 - 4 20 -
HEET - - - 1 1 - - - -
EHH 1 3 - 2 16 - 2 139 -
AN =kii 1 2 - - - - - - -
BT 1 2 - - - - 4 6 -
AT 3 7 - 3 32 - 3 6 -
s - - - 3 4 - 7 9 -
Lt 1 12 - 5 68 - 5 5 -
WhEd 12 12 - 11 18 - 5 5 -
=aeh 6 27 - 2 2 - 1 2 -
KFET - - - 2 2 - 1 1 -
FHE 1 1 - 3 7 - 1 4 -
Etigil 2 49 - 2 25 - 4 59 -
=10 2 27 - 4 13 - 2 6 -
M 2 11 - 1 4 - 2 80 -
wah 2 1 - 3 6 - - - -
N 3 5 - - - - - - -
faiETH 5 16 - 5 38 - 3 5 -
bisXil 2 48 - - - - 2 57 -
NEFH 5 84 - 5 63 - 2 38 -
WMAET 3 84 - 3 3 - 1 4 -
E20T1 1 2 - 1 44 - 1 19 -
= 3 17 - 3 5 - 2| 1898 -
£R% 8 111 - 6 10 - 7 56 -
BHE 3 6 - 4 8 - 4 101 -
B FFiT - - - 2 15 - 3 12 -
EHWH 4 48 - 4 6 - 2 154 -
It B2 77 - - - 3 7 - 1 2 -
SRH 8 184 - 6 11 - 3 3 -
EX1 3 15 - 2 25 - 1 5 -
Fln 2 46 - 5 28 - 3 1 -
Kz 1 5 - 4 140 - - - -
HARRT 2 12 - 3 54 - - - -
E#h 1 3 - 1 16 - - - -
Schi 1 1 - 1 14 - 2 80 -
wAH 2 48 - 1 4 - 1 92 -
BEIIT 3 8 - - - - - - -
3k - - - 1 1 - 1 1 -
NETH - - - 3 3 - 4 26 -
JEERTH 3 69 - 4 267 - 2 22 -
T 4 43 - - - - - - -
wE 1 1 - - - - 1 14 -
Bah 2 16 - - - - - - -
ZBh 4 35 - - - - 2 46 -
L 1 3 - 4 15 - 3 9 -
B 3 32 - 9 91 - 4 4 -
WiIH 3 70 - 2 9 - 1 1 -
b=t il 4 62 - 1 2 - 2| 2548 -
Ei=ANs 50 6 93 - 4 83 - 2 3 -
L 3 18 1 1 1 - 3 4 -
TEATH 4 55 - - - - 1 7 _
B 2 14 - 1 15 - 4 15 -
Wil 4 41 - 1 8 - 1 34 -
F=Yiilil 10 58 - 2 21 - 3 12 -
ABHT 1 1 - 1 7 - - - -
Ei& 7 97 - 3 9 - 6 54 -
R 4 101 - - - - 1 16 -
b Nl 4 102 - - - - - - -
ST 7 81 - 11 11 - 13 71 -
ERE™ 2 24 - - - - - - -
REETH 6 13 - 3 8 - 2 10 -
INGTT 1 2 - 3 6 - 3 35 1
ETE T 1 3 - 3 9 - 1 112 -
R 2 6 - 3 38 - - - -
mAfH - - - 2 50 - 3] 122 -
KEMTH 1 47 - 1 57 - - - -
WAH - - - - - - - - -
_ET'H - - - - - - - - -

(%)
=5 | -| -| -] -| -| -] -| -| -|
ERs | 3] 4] | 1] 1] | 2 | 2 | -




BEFRIBEHESRERE (REFARETER)

(QPNOE )

THXE

THI2F

THIE

&

=4

BE

&

=4

BE

&

(F18)

AL
=g
ELV=FER
FEH
BRRABR ED

1

MR
N
HBRE™
iaTh
FEmETH

N (o
| = | W == =N

N (o
| = | W == =N

N[

N[

R
AEHET
RERTH
PN

LN I [= | =0 =0 s wN O

I NN I [= | =0 =0 s wN O

I =N I[N = =] =N =

I =N I[N = =] ==

I == N = wll

I == N = wll

I = 1w
I = 1w

I =l = 1 = oo o | w|l

I =l = 1 = oo oe | w|l

| == w
| == w

I ==~

I ==~

[ £

[ E

EPNIGH
=

[ LN I e L |
L= N =N =

L= djo 1T T Nan T oNE s TN = NN N

L= djo 1T T Nan TNl s TN = NN N

(LS

(LS

Eivh
WA
BB
/4=
INEMH

JEERT
e
EEm
BE™M
E3=Xiil

I Njw =

I Njw =

[ LR |

[ LN |

EENIT o
BEH
WiTH

| = o

| = o

L= N
[ E

L= 1 =N

L= 1 =N

BT

(RS (0
(RS (0

I wol= |

I w o= |

BRE™
HFHT
Mg
BT
BERTH

I Ifw |
I I fw |

[ C

[ C

mAefh

AEBH
AT
—Bh

(%)

=L |

ER |




BARERFEEIRNT

FRAE R 1~10A 11~20A 21~50 A 51~100A 101~200 A 201~500 A 501 ALLE W
SHMxTHE 777 123 110 37 10 4 - 1,330
SH2F 728 68 55 20 9 4 3 1,061
SH3E 597 36 51 19 11 1 2 717

BERENFEE KR (EHI0FE~TH2%F)
800
700
B SHTE

600 B S2E

mSH3E

500

=
g{ 400
#

300

200

100

O 1 1 J

1~10A

11~20A

21~50A

51~100.A

101~200A

201~500.A

501 AL E




FinfERAIBPEEEH

0% 1~45% 5~95% | 10~14%% | 15~195% | 20~29%% | 30~395% | 40~49%% | 50~59%% | 60~694% | 705ELL L &t s
SHTE 4 296 382 860 1,105 2,482 1,632 1,926 1,679 1,121 1,387 144 13,018
Si2%F 3 495 1,566 2,395 1,190 1,933 1,623 1,912 1,669 851 883 93 14,613
SHSE 11 344 1,071 1,497 1,038 1,779 1,214 1,267 1,075 721 953 110 11,080
= ANE V.S
FEEEBINETEEER(THTE~THSE)
3,000
2,500 B STE
B Si248E
B SHISE
2,000
-
&
& 1,500
A
1,000
500

(1)

1~4i%

5~95%

10~147%

15~197%

20~29%%

30~39%%

40~ 4955

50~59%%

60~ 6955

70 E

et




EEHS00 AL EDEH (SFI3E)

g%g REEAD | EEMKSR &R EEES% HEWEER BEey | TEOYN [BREen
i | 2021/6/16]  mEm 43 RIRABEOUT:HIS | 1 o6 0 6,243
-t o 2021,/4/30 HHE Z;Eﬂﬁégiﬁféég gg: JO94ILRGT 2,545 0 6,453
RENFKELI-BHREEH(SFIFE)
g%g REEAD | EEBRER EEES% HEWEER sany | BEAY (Easey TEE
- . BAE . -
INgTH 2021/5/26 KEE AXYIZ KT £ PR 1 1 1 85708
EE S = .
X = n 4AR138IZFAESH HE . ~
piasp::Y1=1 2021/4/14 %ﬁsﬁﬁ_ﬂi FEROHZY HILERSEE 11 1 179 B .70




0l

AR FEERR (ZHE)

B 18 2A 3H 48
E s £ EE Es £ EE E s £ EE E s £ EE E s £ EE
SHTE 1,061 | 13,018 4 721 111 1 88| 1,370 - 117 | 1,990 - 107 | 1,394 1
SH24F 887 | 14,613 3 80 | 1,467 1 93 [ 1,751 - 72 555 - 30 53 -
SH3E 717 | 11,080 2 36 358 - 47 839 - 88 493 - 58 | 3,428 1
5H 6 A 78 8H 9H
EX 82F nE EX 82F nE EX 82F nE EX 82F nE EX 82F nE
SHITE 99 | 1,058 - 89 864 1 76 736 - 65| 1,126 - 78 628 -
SH24 56 337 - 87| 4,003 - 76 492 - 72| 3,145 1 77 720 -
SH3E 44 454 1 54 | 2,479 - 49 241 - 37 465 - 53 456 -
10R8 118 128
Es £ EE Es £ EE Es £ EE
SHTE 103 439 - 75 444 - 92| 1,798 1
SH24F 123 839 1 70 332 - 51 919 -
SH3E 87 681 - 80 461 - 84 725 -
&E— L 3 . ANEA = V.S
o | mERIRE BRAIRERR(EHEH . 2F0EH SHTE~SHSE)
SH2E
120
B SFI3E
100
$80
®
gso
%
~ 40
20
0
18 2R 3R 4R 58 68 78 8A 98 10H 118 128




1

ARFEEIRNE (EHR0

100
90
80
70

= 60
## 50
g 40
ﬁ’: 30
20
10

B FFTE
nSTRE
m SHI3E

ARSEERR (EHH 2 AL LOES FHITFE~RFHIF)

1R 2R 4R 54 6 A 78 8AH 9A 10A 114 12R
0 | o A RIS ERR (B 1 AOEH SHTE~SHIE)

m FH3E

18 2R

4H 5H 6H 7R 8H 9R 10R 11A 128




¢l

mERME R AR FEERR (EH%0

(F%) S 4

160

140

120

100

80

60

40

20

RERMENFEHHDAJNEERR (RS SMTE~FH3E)

BN

= ZDfth
mEYEERE
mHEMEBRE
mLEYE
mEHER
(LR

= HE




CAULDEH THTE~FHIF)

-

Jt

N
/.

mERME R AR FEERR (EH%0

REMENEHHD R HFEERK

100

o m i X o @ i X
2 #H #H K #H 2 2 #H #H B #H 2
8 § S % #H ¢ = Z S £ &§ K H T W
K v @ 2 2 & D 8 K v @& ®# 2 & D 0§
| ] | ] | ] | | ] | ] | ] | ] ] ] ] ] ] [ ] [ ] [ ]
Heo gt
HTT Hit
HoT gor
=3 Hé6
=4 H8
7 n KL
H9 A.ﬂ ® H9
HS e HS
Hy 4F Hv
He l He
Ht w_"u_.... Ht
HT HT
e
4F
Heo = gt
HTT 1 HT1
HOT S EoOT
K6 < K6
H8 4 Z He
HL & R 2
yo F K H9
HS &._ Hs
Hv m Hv
o
- || "
S
HT ﬁ HT
i
Heo - gt
HTT m Hit
HoT I HoOT
H6 ; H6
HE K L
He IR 8 27
H & Ko
HS HS
Hv Hv
=43 He
Ht Ht
HT HT
& 3 g I e 8 AR
s ()

13

HHIBE

SH24

THTEF




vl

ARFEEIRR (BER)

B 1H 2H 3H 48
=4 o ®E EX s £EF ®E =4 o ®E =4 £EF ®E =4 £EF wE
SHTE 1,061 | 13,018 4 72| 1,171 1 88| 1,370 - 117 | 1,990 - 107 | 1,394 1
SH24F 887 | 14,613 3 80| 1,467 1 93| 1,751 - 72 555 - 30 53 -
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BHH| %) [BEH| % |EEH| % ||BHH| %) [BEH| % |EEH| % ||BHH| %) [BEH| % |EEH| %
B 717| 1000 11,080 | 1000 100.0 340 | 100.0 | 10,703 | 100.0 1| 1000 377 | 1000 377 | 1000 1| 1000
[ R 3% ¥ 87 516 | 72010390 938 100.0 312 91810186 | 952 1| 1000 204 | 541 204 | 541 1| 1000
[REEE A A 201 28.0 690 6.2 - - 28 8.2 517 48 - - 173 | 459 173 | 459 - -
# 717| 1000 | 11,080 [ 100.0 2| 1000 340 | 100.0 | 10,703 [ 100.0 1| 1000 377 | 100.0 377 | 100.0 1| 1000
REE 106 | 148 156 14 1 50.0 27 7.9 77 0.7 - - 79| 210 79| 210 1| 1000
EBEE B 31 43| 1,189 10.7 1 50.0 31 9.1 1,189 11.1 1| 1000 - - - - - -
B |BEmE 5 0.7 438 40 - - 15 438 4.1 - - - - - - - -
REM 5 0.7 191 1.7 - - 15 191 18 - - - - - - - -
EANR—L 17 24 505 4.6 1 50.0 17 50 505 4.7 1| 1000 - - - - - -
HES 2 0.3 44 0.4 - - 0.6 44 0.4 - - - - - - - -
ZDfth 2 0.3 11 0.1 - - 0.6 11 0.1 - - - - - - - -
R OB 10 14 542 4.9 - - 10 2.9 542 5.1 - - - - - - - -
R |HEmREE ($#E 1 0.1 12 0.1 - - 0.3 12 0.1 - - - - - - - -
INEERR - - - - - - - - - - - - - - - - - -
e - - - - - - - - - - - - - - - - - -
Z Dt - - - - - - - - - - - - - - - - - -
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ZOH 1 0.1 54 0.5 - - 1 0.3 54 0.5 - - - - - - - -
HES 6 08| 390 35 - - 6 18| 390 36 - - - - - - - -
Z Dt 2 0.3 86 0.8 - - 2 0.6 86 0.8 - - - - - - - -
Akt 5 07| 283 26 - - 5 15| 283 26 - - - - - - - -
BEER 4 06| 273 2.5 - - 4 12| 273 2.6 - - - - - - - -
HES - - - - - - - - - - - - - - - - - -
Z Dt 1 0.1 10 0.1 - - 1 0.3 10 0.1 - - - - - - - -
REE 12 17| 386 35 - - 12 35| 386 36 - - - - - - - -
HREIE 283 | 395 2646 | 239 - - 196 | 576 2559 | 239 - - 87| 231 87| 23.1 - -
BR5EIE 40 5.6 44 0.4 - - 3 0.9 7 0.1 - - 37 9.8 37 9.8 - -
&R 10 14| 2127 192 - - 10 29| 2127 199 - - - - - - - -
HtHE 16 22| 3,010 272 - - 15 44| 3,009 28.1 - - 1 0.3 1 0.3 - -
FREIS 1 0.1 3 0.0 - - 1 0.3 3 0.0 - - - - - - - -
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